ENGINEERING TRIPOS PART IIB 2012 @
4C9 CONTINUUM MECHANICS Prof V Deshpande
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GroalAinNer's CONANNGTV:

A popular question, well-answered by most candidates. The main part the candidates found
difficult was part c(ii) where they had to prove the principal directions are orthogonal- most
students did not know how to start going about this.
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On the whole the question was again well attempted. The main difﬁ.culty was in part (a) 4
where they had to prove that the stress tensor could be decomposed into the hydrostatic an
deviatoric parts in only one way.
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EXONNNRSS ComnnaVy:
The least popular question but on the whole poorly attempted. Students managed to derive
the strain rates from the given velocity field but failed to do the remaining two parts of the
questions that involved deriving an upper bound and then showing that it was the exact
solution.

§

i

|




